
https://www.pass4itsure.com/1z0-1059.html
2024 Latest pass4itsure 1Z0-1059 PDF and VCE dumps Download

 

 

 

1Z0-1059Q&As

Oracle Revenue Management Cloud Service 2019 Implementation
Essentials

Pass Oracle 1Z0-1059 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-1059.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-1059 VCE Dumps | 1Z0-1059 Study Guide | 1Z0-1059 Exam Questions                                1 / 3

https://www.pass4itsure.com/1z0-1059.html
https://www.pass4itsure.com/1z0-1059.html
https://www.pass4itsure.com/1z0-1059.html


https://www.pass4itsure.com/1z0-1059.html
2024 Latest pass4itsure 1Z0-1059 PDF and VCE dumps Download

QUESTION 1

Which is the following is NOT a feature of personalization 

A. Selecting default language 

B. Changing text font 

C. Saving searches 

D. Configuring table columns 

Correct Answer: B 

 

QUESTION 2

Which three statements about Effective Periods are true? 

A. If effective periods are not defined, Revenue Management uses the General Ledger calendar. 

B. Effective Periods are used for standalone selling prices and for creating journal entries. 

C. Gaps between periods are not allowed 

D. You cannot have overlapping periods. 

E. Effective Periods only define the rage where standalone selling prices of an item should be effective. 

Correct Answer: CDE 

 

QUESTION 3

65-A business entity (your client) sells a computer, monitor, keyboard, and mouse as a single package to consumers.
The entity has identified that this bundle is a distinct performance obligation. How would you configure the Performance
Obligation Identification Rule to ensure correct grouping of these items? 

A. By defining a grouping rule on the customer class 

B. By defining an exclusion rule to exclude customer classes that are "Retail" 

C. By defining a grouping on an extensible line attribute and ensuring that the source lines for the specified items
contain the same value for that attribute 

D. By defining an item group and assigning that to the rule 

E. By defining a grouping on an extensible line attribute and ensuring that the source lines for the specified items
contain different values for that attribute 

Correct Answer: E 
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QUESTION 4

You have defined 3 Contract Identification rules: Rule A, Rule B, and Rule C. You then decide that Rule C needs to be
the first rule executed when the "Identify Customer Contracts" process runs. 

Which attribute needs to be updated to achieve this objective? 

A. Freeze Period 

B. Default Classification 

C. Source Document Type 

D. Priority 

Correct Answer: D 

 

QUESTION 5

Given Revenue Management uses the Subledger Accounting engine to create journal entries from customer contracts,
which Is NOT a predefined Accounting Class? 

A. Contract Asset 

B. Contract Price Variance 

C. Contract Liability 

D. Contract Revenue 

E. Contract Expense 

F. Contract Clearing 

Correct Answer: E 

Reference: https://docs.oracle.com/en/cloud/saas/financials/r13- update18a/fafrm/financials-cloud-usingrevenue-
management.pdf 
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